Adverb Clauses - Cause and Effect
Relationships

1. Because he was tired, he scored poorly on the exam, ____ into the university.
a. this will cause him to not be admitted
b. this is a fact which will cause him to not be admitted
c. a fact which will cause him to not be admitted
d. a fact which will cause him to not admit

-

__ the TOEFL with a score of 550, he will be admitted into the university.
. Now that he passes
. That he has passed
. Now, he has passed
. Now that he has passed

-

oo op e

Since July 4th is a holiday,
so we do not

we do not

. as a result, we do not

thus, we do not

-

have to go to work.

apTE e

Yousef went back to Saudi Arabia ____ to take care of some business in his company.
and he needed

. because he needed

. which he needed

because he need

pooe e

-

__ . he will return back to the United States to study English.
Had Yousef taken care of his business in Saudi Arabia

. Now that Yousef has taken care his business in Saudi Arabia
Now that Yousef has taken care of his business in Saudi Arabia
Yousef has taken care of his business in Saudi Arabia but

-

peoe e

__ have to work today, we should go to Laguna Beach.
. For we do not
. We do not
. Since we do not
. Since we do no

ocoop e

e Fabiana will not go to work today a bit ill.

a. , she is
b. because she



